

**PUBLIC WORKS DEPARTMENT
"NOTICE INVITING TENDER"**

Sealed **Percentage rates** tender in emergent condition on form 6 & 7 are invited on behalf of Governor of Himachal Pradesh for the following work covered under emergent/inescapable nature from the approved and eligible contractors enlisted in H.P.PWD so as to reach in this office on or **06.09.2025** Up to **11.30 A.M.** and will be opened on the same day at 3.30 P.M. in the presence of interesting contractors or their authorized representatives who may like to be present. If it happens to be holiday on the schedule date of opening of tender, the same will be opened on next working day. The application for obtaining the tender form will be received upto **01.00 PM** & without EMD tender form will not be accepted, moreover the tender form can be had from this office against cash payment (Nonrefundable) up to 5.00 P.M. on **05.09.2025**.

The earnest money in the shape of National Saving Certificate/ Time deposit accounts/Saving account in any of the Post Office and Banks of Himachal Pradesh duly pledged in favour of the Xen Mandi Division No. II must accompany with each tender. Conditional tender and the tender received without earnest money will summarily be rejected. The earnest money should be attached with application. The offer of the tender shall be kept open for 75 days. The Executive Engineer reserves the right to reject the tender without assigning any reason.

Sr. No	Name of work	Estt. cost	E/Money	Cost of tender form	Time limit
1.	Soil Stabilization to bypass road along suketi Khad near Old suketi Bridge Mandi Distt. Mandi H.P. (SH:- Hiring of JCB for carraige of muck) Deposit work (Job No-1)	Rs 99,000.00	Rs 2000/-	Rs. 350	One Month
2	C/O Kalother to Luhard road km 0/00 to 3/00 (SH:- Balance work of ROFD between km 1/030 to 1/090) Deposit work	Rs 99,454.00	Rs 2000/-	Rs. 350	One Month
3	A/R & M/O Assistant Engineer office Building at Kotli Tehsil Kotli Distt. Mandi H.P. (SH:- Providing and fixing wall panelling of 12mm thick water proof termite resistant ply wood in office).	Rs 99,653.00	Rs 2000/-	Rs. 350	One Month
4	SDP/2024/451, Maintenance of Renovaiton of District Bar room Mandi. (SH - Providing and supplying covered Sofa set with table in Bar room at Distt Court complex Mandi) Job No.1	Rs 98,000.00	Rs 2000/-	Rs. 350	One Month
5	SDP/2024/41,Maintenance of Renovation of District Bar room Mandi. (SH:- Providing and supplying seven seater sofa set with table in Bar room at Distt Court complex Mandi) Job No.2	Rs 99,170.00	Rs 2000/-	Rs. 350	One Month
6	RRD on various roads under Mandi Sub Division No-IV HPPWD Mandi (SH- Hiring of Hydraulic Excavator with rock breaker for breaking rock at vairous Rds) Job-2	Rs 99,825.00	Rs 2000/-	Rs. 350	One Month
7.	RRD on various roads under Kotli Sub Division HPPWD Kotli. (SH:- Hiring of Hydraulic Excavator with rock breaker for breaking rock at various Rds).	Rs 99,825.00	Rs 2000/-	Rs. 350	One Month
8	RRD on various roads under Mandi Sub Division No-IV HPPWD Mandi. (SH:- Hiring of Hydraulic Excavator with rock breaker for breaking rock at various Rds) Job-1	Rs 99,825.00	Rs 2000/-	Rs. 350	One Month
9	Soil Stabilization to bypass road along suketi Khad near Old suketi Bridge Mandi Distt. Mandi H.P. (SH:- Hiring of JCB for carraige of muck) Deposit work (Job No-2)	Rs 99,000.00	Rs 2000/-	Rs. 350	One Month
10	Annual repair and maintenance of residence of Civil Judge-cum-JMFC court No.1 at Bhiuli Mandi (H.P) (SH:- Construction of Chhajja and painting work etcetera Under Head 2216-05-053-01 Demand No.3	Rs 54,700 00	Rs 1,100.00	Rs. 350	One Month
11	A/R & M/O various road under Mandi Sub Division No-IV HPPWD Mandi. (Bir section) (SH:- Hiring of Tipper for carriage of muck and other misc. materils).	Rs 99,000.00	Rs 2,000.00	Rs. 350	One Month
12.	A/R & M/O various road under Mandi Sub Division No-IV HPPWD Mandi. (Pandoh Section) (SH:- Hiring of Tipper for carraige of muck and other misc. materials)	Rs 99,000 00	Rs 2,000.00	Rs. 350	One Month
13.	RRD on various roads under Mandi Sub Division No-IV HPWD Mandi. (Randhara Setion) (SH- Hiring of JCB for removal of slips, debries, and excavation of Katcha drian etc).	Rs 99,000.00	Rs 2,000.00	Rs. 350	One Month
14.	Annual repair and maintenance of residence of ADJ-III at Bhiuli, Mandi /H.P).(SH- Providing flooring in courtyard and wall painting work etcetera. (Under Head 2216-05-053-01 Demand no 3)	Rs. 68,309/-	Rs 1,400/-	Rs. 350	One Month
15.	Annual repair and maintenance of residential building under Mandi Division No. II at Jail road Mandi Distt. Mandi (H.P) (SH- Providing steel work and precoated galvanised iron sheet roofing work etc. in Type-IV Qtr. No 6 and chief office).	Rs 99,835.00	Rs 2000/-	Rs. 350	One Month

6	Annual repair and maintenance of Residential building HPPWD Department at Jail road Mandi Distt Mandi H.P. (SH:- Providing and fixing HDHMR Board for cupboard in Chief Engineer residence).	Rs 93,731.00	Rs 1,900.00	Rs. 350	One Month
---	--	--------------	-------------	---------	-----------

CERTIFICATE

It is certified that the above works are required to be carried out immediately, being of emergent nature and in the larger public interest.

Tender Notice - Terms & Conditions

The tender documents shall be issued only to those Contractors/Firms who submit the following documents along with their application:

1. Valid enlistment/registration of contractor in the appropriate class.
2. Permanent Account Number (PAN).
3. GST Registration Number.
4. Earnest money in the shape of National Saving Certificate/Time Deposit Account in any Post Office in Himachal Pradesh, or F.D.R. from any Nationalized Bank duly pledged in favour of the Executive Engineer, Mandi Division No. 2, HPPWD, Mandi H.P.
5. Earnest money and cost of tender form for the above works must be submitted along with the application for purchase of tender form. Applications received without earnest money and cost of tender form shall be summarily rejected.
6. The offer of the tender shall remain valid for 75 (seventy-five) days after the opening of the tender.
7. Ambiguous, telephonic, conditional tenders or tenders submitted by fax/e-mail shall not be considered and will be summarily rejected.
8. The Executive Engineer reserves the right to reject or cancel any or all tenders without assigning any reason.
9. If the date specified above happens to be a holiday, the tenders shall be processed on the next working day.
10. The Contractor/Firm must quote their rates both in words as well as in figures, failing which the Executive Engineer reserves the right to accept or reject any or all tenders.
11. Tender forms shall not be issued to those Contractors/Firms whose past performance is not found satisfactory or who have failed to complete previously awarded works within the stipulated period.
12. No contractor shall have more than two major works in hand at a time.
13. The work shall be completed by the Contractor within the stipulated period.

No.PW-MDII-CB NIT (off line) /2025-

Copy forwarded to the following for information and necessary action:-

1. The Engineer-in-chief, HPPWD: Shimla.
2. The Deputy Commissioner Mandi Distt. Mandi HP
3. The Sub Divisional officer (Civil) Sadar Mandi Distt. Mandi HP
4. The Chief Engineer, (MZ)HPPWD: Mandi.
5. The Superintending Engineer, 1st Circle, HPPWD: Mandi.
6. The Distt. Panchyat officer Mandi Distt. Mandi HP
7. The Commissioner Nagar Nigam Mandi Distt. Mandi HP
8. All A. E, S under this division.
9. The President of Contractor's Association.
10. Notice Board/Accounts Branch/Drawing Branch/Supdt. With spare copies.

808-99

Executive Engineer
Mandi Division No. II
HP.PWD Mandi
Dated: -

23/8/2025

Executive Engineer
Mandi Division No. II
HP.PWD Mandi
S/

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- Soil Stabilization to by pass road along Suketi Khad near Old Suketi Bridge Mandi Distt. Mandi. (SH:- Hiring of JCB for carraige of muck.) **Deposit Work (Job no-I)**

Estimated Cost Rs. 99,000/-
Earnest Money Rs. 2000/-
Time :- One month.

Sr. No.	Description of items.	Qty.	Rates in:		Unit.	Amount.
			Figure.	Words.		
1	Hiring of JCB for carraige of muck etc in all kind of soil and trimming of side slopes and disposing of excavated earth up to any lead from various sites of work with in all leads and lifts to the entire satisfaction of the Engineer-in-charge. Any loss to the public/private property or any accident etc. happened during the course of hiring period shall be absolute responsibility of the JCB owner which shall have to be fully compensated by him in all cases. The fuel and JCB operator and stays for JCB operator will be provided by the JCB owner. The repair and spare including watch and ward of JCB also borne by the contractor/ owner. The daily log book will be maintained at site which should be duly verified by the Engineer-in-charge.	90.00	1100.00	Rupees One Thousand One Hundred Only	Per Hour	99000.00
					Total	99,000.00

Note :- (i) The intending bidders must have ownership of JCB in their name and copy of RC must be uploaded online as a proof.



Executive Engineer,
Mandi Division No-II,
HP.PWD. Mandi.

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- C/O Kalother to Luhard road Km 0/00 to 3/00 (SH :- Balance work of ROFD between Km 1/030 to 1/090) Deposit work

Estimated Cost Rs 99,454/- only
Earnest Money Rs 2,000/-
Time:- One month.

S. No	Description of items.	Quantity		Rates		Unit	Amount
		2	3	Figure	Words		
1	Cutting in earth work in all kinds of soil such as pick work, jumper work, pick jumper work, pick jumper blasting work, jumper blasting work, blasting work (soft and hard rock) conglomerate rock including/ chiseling wedging out of rocks (where blasting is prohibited), saturated soil and their intermediate classification of soil including ramming and de-watering where required as per the geometrics, grades and levels shown on the drawings, including clearing of jungles uprooting of trees, vegetation, grass wood trees and sapling of all girth upto any heights/depths and removal of rubbish up to any distance outside the periphery of the area including stacking the useful material along the road side and disposal of all unserviceable materials through all modes of transportation with in all leads and lifts. The recovery of 41.66 cubic metre @ Rs. 300/- per cubic metre amounting to Rs. 12,498.00/- only, shall be done on prorata basis for the quantity of cutting in earth work effected. Any loss to public or private property during the course of execution shall be the responsibility of the contractor, which shall have to be duly compensated by him at his own cost in all cases to the extent of the damages occurred as directed or as per the direction of Engineer-in-charge including carriage of materials with in all leads, lifts and other incidentals.		390.55	254.65	Rupees Two Hundred Fifty Four and Paise Sixty Five Only	Per Cubic Metre	99,454.00
					Total		99,454.00


Executive Engineer.
Mandi Division No-II.
HP. PWD, Mandi.

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- A/R & M/O Assistant Engineer office building at Kotli Tehsil Kotli Distt. Mandi (HP) (SH :- Providing and fixing wall panelling of 12mm (twelve milimetre) thick water proof termite resistant ply wood in office)

Estimated Cost Rs :- 99,653/- only
Earnest Money Rs 2,000/-

Time:- One month.

S. No	Description of items.	Quantity	Rates		Unit	Amount
			Figure	Words		
2	3	4	5	6	7	
1	Providing and fixing wall panelling of 12mm (twelve milimetre) thick water proof termite resistant ply wood (One side) of approved brand on soft wood 4X4cm frames @ 60cm (Sixty centimetre) centre to centre on both side fixing with rawl plugs on wooden pegs and screwed and showing 8mm wide and 12mm (twelve milimetre) deep grooves of required pattern in elevation and finished teak wood beading out of 25x12mm (twenty five into twelve milimetre) / cornish out of 75x60mm (seventy five into sixty milimetre) of different pattern in top middle and corner joints including polishing and painting groove complete.	28.20	3533.80	Rupees Three Thousand Five Hundred Thirty Three and Paise Eighty Only	Per Cubic Metre	99,653.00
					Total	99,653.00


Executive Engineer,
Mandi Division No-II,
HP. PWD, Mandi.

Percentage Rate Schedule of Quantity

Estimated Cost:- 98000.00
 Earnest Money:- 2000.00
 Time:- One Month

Name of work:- SDP/2024/451, Maintenance of Renovation of Distt. Bar room Mandi.

Sub Head:-Providing and supplying covered Sofa set with table in Bar room at Distt. Court complex Mandi.) Job No.1

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1	2	3	4	5	6	7
1	Providing and supplying covered sofa set with table of superior quality including carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	1.00	98000.00	Rupees Ninety Eight Thousand Only	Set	98000.00
				Total:-		98000.00


 Executive Engineer,
 Mandi Division No. II,
 HP.PWD Mandi.

Percentage Rate Schedule of Quantity

Estimated Cost:- 99170.00
 Earnest Money:- 2000.00
 Time:- One Month

**Name of work:- SDP/2024/451, Maintenance of Renovation of Distt. Bar room Mandi.
 Sub Head:- Providing and supplying Seven seater Sofa set with table in Bar room at Distt. Court complex Mandi.) Job No. II**

Sr. No.	Description of item	Qty.	Rate		Unit	Amount	
			In Figure	In Words			
		2	3	4	5	6	7
1	Providing and supplying seven seater Sofa set with table of superior quality including carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	1.00	99170.00	Rupees Ninety Nine Thousand Hundred Seventy Only	Set	99170.00	
					Total:-		99170.00


 Executive Engineer,
 Mandi Division No. II,
 HP.PWD. Mandi

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- RRD on Various roads under Mandi Sub Division No IV HPPWD Mandi (SH:- Hiring of Hydraulic Excavator with rock breaker for breaking rock at various Rds) Job-II

Estimated Cost Rs. 99,825/-
Earnest Money Rs. 2000/-
Time :- One month

Sr. No.	Description of items.	Qty.	Rates in:		Unit.	Amount.
			Figure.	Words.		
1	Hiring of Hydraulic Excavator with rock breaker for breaking rock, loading in tippers and disposal with any lift, trimming bottom and side slopes in accordance with requirements of lines, gradients and cross-sections as per technical Specification clause 302.3.5. including cost of fuel oil lubricants and wages of operating staff. Any repair/breakage during operation will be carried out by the Contractor/owner at his own risk and cost including shifting of machinery from one place to other place will be absolute responsibility of the Contractor. only actual working hours will be accounted for the payment earth cutting/removal of slips, excavation in all kinds of soil including loading in to tipper/trucks and disposal of all excavated earth in all leads and lifts to the entire satisfaction of the Engineer-in-charge.	55.00	1815.00	Rupees One Thousand Eight Hundred Fifteen Only	Per Hour	99,825.00
					Total	99,825.00

Conditions:- Contractor should have his own machinery or he should have an agreement with the owner of the machinery.


Executive Engineer,
Mandi Division No-II,
H.P.PWD. Mandi.

Name of work :-

RRD on Various roads under Kotli Sub Division HPPWD Kotli (SH:- Hiring of Hydraulic Excavator with rock breaker for breaking rock at various Rds)

Estimated Cost Rs. 99,825/-
Earnest Money Rs. 2000/-
Time :- One month

Percentage Rate SCHEDULE OF QUANTITY

Sr. No.	Description of items.	Qty.	Rates in:		Unit.	Amount.
			Figure.	Words.		
1	Hiring of Hydraulic Excavator with rock breaker for breaking rock, loading in tippers and disposal with any lift, trimming bottom and side slopes in accordance with requirements of lines, gradients and cross-sections as per technical Specification clause 302.3.5. including cost of fuel oil lubricants and wages of operating staff. Any repair/breakage during operation will be carried out by the Contractor/owner at his own risk and cost including shifting of machinery from one place to other place will be absolute responsibility of the Contractor. only actual working hours will be accounted for the payment earth cutting/removal of slips, excavation in all kinds of soil including loading in to tipper/trucks and disposal of all excavated earth in all leads and lifts to the entire satisfaction of the Engineer-in-charge.	55.00	1815.00	Rupees One Thousand Eight Hundred Fifteen Only	Per Hour	99,825.00
					Total	99,825.00

Conditions:- Contractor should have his own machinery or he should have an agreement with the owner of the machinery.


Executive Engineer,
Mandi Division No-II,
HP.PWD. Mandi.

Percentage Rate SCHEDULE OF QUANTITY

of work :- RRD on Various roads under Mandi Sub Division No IV HPPWD Mandi (SH:- Hiring of Hydraulic Excavator with rock breaker for breaking rock at various Rds) Job-1

Estimated Cost Rs. 99,825/-
Earnest Money Rs. 2000/-
Time :- One month

Sr. No.	Description of items.	Qty.	Rates in:		Unit.	Amount.
			Figure.	Words.		
1	Hiring of Hydraulic Excavator with rock breaker for breaking rock, loading in tippers and disposal with any lift, trimming bottom and side slopes in accordance with requirements of lines, gradients and cross-sections as per technical Specification clause 302.3.5. including cost of fuel oil lubricants and wages of operating staff. Any repair/breakage during operation will be carried out by the Contractor/owner at his own risk and cost including shifting of machinery from one place to other place will be absolute responsibility of the Contractor. only actual working hours will be accounted for the payment earth cutting/removal of slips, excavation in all kinds of soil including loading in to tipper/trucks and disposal of all excavated earth in all leads and lifts to the entire satisfaction of the Engineer-in-charge.	55.00	1815.00	Rupees One Thousand Eight Hundred Fifteen Only	Per Hour	99,825.00
					Total	99,825.00

Conditions:- Contractor should have his own machinery or he should have an agreement with the owner of the machinery.


Executive Engineer,
Mandi Division No-II,
HP.PWD. Mandi.

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- Soil Stabilization to by pass road along Suketi Khad near Old Suketi Bridge Mandi Distt. Mandi. (SH:- Hiring of JCB for carraige of muck.) **Deposit Work (Job no-II)**

Estimated Cost Rs. 99,000/-
Earnest Money Rs. 2000/-
Time :- One month.

Sr. No.	Description of items.	Qty.	Rates in:		Unit.	Amount.
			Figure.	Words.		
1	Hiring of JCB for carraige of muck etc in all kind of soil and trimming of side slopes and disposing of excavated earth up to any lead from various sites of work with in all leads and lifts to the entire satisfaction of the Engineer-in-charge. Any loss to the public/private property or any accident etc. happened during the course of hiring period shall be absolute responsibility of the JCB owner which shall have to be fully compensated by him in all cases. The fuel and JCB operator and stays for JCB operator will be provided by the JCB owner. The repair and spare including watch and ward of JCB also borne by the contractor/ owner. The daily log book will be maintained at site which should be duly verified by the Engineer-in-charge.	90.00	1100.00	Rupees One Thousand One Hundred Only	Per Hour	99000.00
					Total	99,000.00

Note :- (i) The intending bidders must have ownership of JCB in their name and copy of RC must be uploaded online as a proof.


Executive Engineer,
Mandi Division No-II,
HP PWD. Mandi.

Percentage Rate Schedule of Quantity

**Estimated Cost:-Rs. 54700.00
Earnest Money:-Rs. 1100.00
Time:- One Month**

Name of work:- Annual repair and maintenance of residence of Civil Judge -cum-JMFC court No.1 at Bhiuli, Mandi (H.P.)

Sub Head:- Construction of Chhajja and painting work etcetera. Under Head 2216-05-053-01 Demand no. 3

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1	Demolishing stone rubble masonry manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	2.30	735.85 Rupees Hundred and Paise Eighty Five Only	Seven Thirty Five Paise	Per cubic metre	1692.00
2	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	100.36	119.80 Rupees One Hundred Nineteen and Paise Eighty Only	One Hundred Nineteen and Paise Eighty Only	Per kilogram	12023.00
3	Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of corrugation as approved by Engineer-in-charge) 0.50 mm (zero point fifty) (+ 0.05 %)(plus zero point zero five percent) total coated thickness with zinc coating 120 (one hundred twenty) grams per sqm as per IS: 277, in 240 (two hundred forty) mpa steel grade, 5-7 (five to seven) microns epoxy primer on both side of the sheet and polyester top coat 15-18 (fifteen to eighteen) microns. Sheet should have protective guard film of 25 (twenty five) microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 (twelve) metre complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	8.96	1187.40 Rupees Thousand Hundred Seven and Forty Only	One Thousand One Hundred Seven and Forty Only	Per square metre	10639.00
4	Providing and fixing flashings/ aprons (upto 600 mm(six hundred millimetre)) precoated galvanised steel sheet roofing accessories 0.50 mm (zero point fifty) (+ 0.05 %)(plus zero point zero five percent) total coated thickness, zinc coating 120 (one hundred twenty) grams per sqm (squaremetre) as per IS: 277, in 240 (two hundred forty) mpa steel grade, 5-7 (five to seven) microns epoxy primer on both side of the sheet and polyester top coat 15-18 (fifteen to eighteen) microns using self drilling/ self tapping screws complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	12.80	407.05 Rupees Four Hundred Seven and Paise Five Only	Four Hundred Seven and Paise Five Only	Per running metre	5210.00
5	Distempering one or more coats on old work with oil bound washable distemper of approved brand and manufacture to give an even shade complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	261.72	50.55 Rupees Fifty Five Only	Fifty Five Only	Per square metre	13230.00

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
3	4	5	6	7		
1	2					
6	Painting one or more coats on old wood work with deluxe multi surface paint of approved brand and manufacture of required colour to give an even shade complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	205.10	46.65 Rupees Forty Six and Paise Sixty Five Only	Per square metre	9568.00	
7	Painting one or more coats on old steel work with deluxe multi surface paint of approved brand and manufacture of required colour to give an even shade complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	13.75	72.35 Rupees Seventy Two and Paise Thirty Five Only	Per square metre	995.00	
8	Providing and laying in position reinforced cement concrete 1:2:4 (one cement: two coarse sand four graded, crushed stone aggregate 20mm (twenty millimetre) nominal size) including curing complete excluding the cost of centering, shuttering, in all works up to all floor level complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	0.19	7066.35 Rupees Thousand Sixty Six and Paise Thirty Five Only	Per cubic metre	1343.00	
			Total:-			54700.00


 Executive Engineer,
 Mandi Division No. II,

 PWID Mandi

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- A/R & M/O various road under Mandi Sub Division No-IV HPPWD Mandi. (Bir Section)
(SH:- Hiring of Tipper for carriage of muck and other misc. materials)

Estimated Cost Rs. 99,000/-
Earnest Money Rs. 2000/-
Time :- One month

Sr. No.	Description of items.	Qty.	Rates in:		Unit.	Amount.
			Figure.	Words.		
1	Hiring of Tipper on daily wages with P.O.L. and lubricants including driving staff of carriage of materials/removal of debris from road side up to all leads & lifts and as per direction and entire satisfaction of the Engineer-in-charge. The tipper should work minimum 8.00 hours (Eight hours) during working day/Sunday/ Holiday any loss to the public/property or any accident etc. happened during the course of hiring period shall be the absolute responsibility by him in all cases. The repair and spare, watch and ward of the Tipper also be borne by the contractor/ owner. The daily log book shall be maintained at site which should be verified by the Engineer-in-charge.	33.00	3000.00 Rupees Three Thousand Only	Per day		99,000.00
					Total	99,000.00


Executive Engineer,
Mandi Division No-II,
H.P.PWD. Mandi.

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- A/R & M/O various road under Mandi Sub Division No-IV HPPWD Mandi. (Pandoh Section)
(SH:- Hiring of Tipper for carriage of muck and other misc. materials)

Estimated Cost Rs. 99,000/-
Earnest Money Rs. 2000/-
Time :- One month

Sr. No.	Description of items.	Qty.	Rates in:		Unit.	Amount.
			Figure.	Words.		
2	3	4	5	6	7	
1	Hiring of Tipper on daily wages with P.O.L. and lubricants including driving staff of carriage of materials/ removal of debris from road side up to all leads & lifts and as per direction and entire satisfaction of the Engineer-in-charge. The tipper should work minimum 8.00 hours (Eight hours) during working day/Sunday/ Holiday any loss to the public/property or any accident etc. happened during the course of hiring period shall be the absolute responsibility by him in all cases. The repair and spare, watch and ward of the Tipper also be borne by the contractor/ owner. The daily log book shall be maintained at site which should be verified by the Engineer-in-charge.	33.00	3000.00 Rupees Three Thousand Only	Per day	99,000.00	
				Total		99,000.00


Executive Engineer,
Mandi Division No-II,
H.P.PWD. Mandi.

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- RRD on various roads under Mandi Sub Division No-IV HPPWD Mandi (Randhara Section) (SH:-Hiring of JCB for removal of slips,debris, and excavation of Katcha drain etc)

Estimated Cost Rs. 99,000/-
Earnest Money Rs. 2000/-
Time :- One month.

Sr. No.	Description of items.	Qty.	Rates in:		Unit.	Amount.
			Figure.	Words.		
1	Hiring of JCB for removal of slips,debris, and excavation of Katcha drain etc) in all kind of soil and trimming of side slopes and disposing of excavated earth up to any lead from various sites of work with in all leads and lifts to the entire satisfaction of the Engineer-in-charge. Any loss to the public/private property or any accident etc. happened during the course of hiring period shall be absolute responsibility of the JCB owner which shall have to be fully compensated by him in all cases. The fuel and JCB operator and stays for JCB operator will be provided by the JCB owner. The repair and spare including watch and ward of JCB also borne by the contractor/ owner. The daily log book will be maintained at site which should be duly verified by the Engineer-in-charge.	90.00	1100.00	Rupees One Thousand One Hundred Only	Per Hour	99000.00
					Total	99,000.00

Note :- (i) The intending bidders must have ownership of JCB in their name and copy of RC must be uploaded online as a proof.


Executive Engineer,
Mandi Division No-II,
HP.PWD. Mandi.

Percentage Rate Schedule of Quantity

**Estimated Cost:-Rs. 68309.00
Earnest Money:Rs. 1400.00
Time:- One Month**

Name of work:- Annual repair and maintenance of residence of ADU-II at Bhiuli, Mandi (H.P.)

Sub Head:- Providing flooring in courtyard and wall painting work etcetera. (Under Head 2216-05-053-01 Demand no. 3)

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m (one point five metre) in width or 10 sqm (ten squaremetre) on plan), including dressing of sides and ramming of bottoms, upto any lift, including getting out the excavated soil and disposal of surplus excavated soil as directed, upto any lead including carriage of material within all leads, lifts and other incidental charges complete in all respect as per direction and satisfaction of Engineer-in-Charge.	3.08	233.10	Rupees Two Hundred Thirty Three and Paise Ten Only	Per cubic metre	718.00
2	Boulder filling of selected hard dry stone hand packed tightly under floor complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	2.06	1929.75	Rupees Thousand Hundred Twenty Nine and Paise Seventy	One Per cubic metre	3975.00
3	Providing and laying in position reinforced cement concrete 1:2:4 (one cement: two coarse sand four graded, crushed stone aggregate 20mm (twenty millimetre) nominal size) including curing complete excluding the cost of centering, shuttering, in all works up to all floor level complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	2.06	7066.35	Rupees Seven Thousand Sixty Six and Paise Thirty Five Only	Per cubic metre	14557.00
4	Finishing walls with Acrylic Smooth exterior paint of required shade on old work (one or more coat applied @ 0.90 ltr/10 sqm (at the rate of zero point nine zero litre per ten square metre) complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	272.20	80.85	Rupees Eighty and Paise Eighty Five Only	Per square metre	22007.00
5	Painting one or more coats on old wood work with deluxe multi surface paint of approved brand and manufacture of required colour to give an even shade complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	45.71	46.65	Rupees Forty Six and Paise Sixty Five Only	Per square metre	2132.00
6	Painting one or more coats on old steel work with deluxe multi surface paint of approved brand and manufacture of required colour to give an even shade complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	44.45	72.35	Rupees Seventy Two and Paise Thirty Five Only	Per square metre	3216.00

Sr. No.	Description of item	Qty.	Rate		Unit	Amount	
			In Figure	In Words			
1		3	4	5	6	7	
7	Providing weep hole in brick masonry/ stone masonry / plain reinforced concrete abutment , wing wall, return wall with 100mm dia. (one hundred millimetre diameter) PVC pipe extending through the full width of the structures with slope of 1V:2H (one vertical is to twenty horizontal) towards drawing face complete as per drawing and technical specifications clauses 614,709,1204.3.7 including carriage of material and other incidentals as per direction of Engineer-in-Charge.	2.00	379.20	Rupees Hundred Nine and Twenty Only	Three Rupees Seven and Paise	Each	758.00
8	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in super structure above plinth level upto all level in all shapes and sizes in cement mortar 1:6 (one cement : six sand) complete within all leads, lifts, carriage of material and other incidental complete in all respect as per direction of Engineer-in-Charge.	0.32	10177.40	Rupees Ten Thousand One Hundred Seventy Seven and Paise Forty Only	Per cubic metre	3257.00	
9	Cleaning and desilting of roof drain, including removal of rubbish mixed with earth etcetera and disposal of same complete within all leads, lifts, carriage of material and other incidental complete in all respect as per direction of Engineer-in-Charge.	47.60	14.70	Rupees Fourteen and Paise Seventy Only	Per running metre	700.00	
10	Providing and fixing 35 mm (thirty five millimetre) thick (ISI) marked flush door shutters including (ISI) marked Stainless Steel butt hinges with necessary screws conforming to IS : 2202 (Part I) decorative type, core of block board construction with frame of 1st(first) class hard wood and well matched teak 3(three) ply veneering with vertical grains or cross bands and face veneers on both faces of shutters complete within all leads, lifts, carriage of material and other incidental complete in all respect as per direction of Engineer-in-Charge..	1.50	4199.55	Rupees Thousand Hundred and Only	Four Per One square metre	6299.00	
11	Repairs to plaster of thickness 12 mm (twelve millimetre) to 20 mm (twenty millimetre) in patches of area 2.5 (two point five) squaremetres and under, including cutting the patch in proper shape, raking out joints and preparing and plastering the surface of the walls complete, including disposal of rubbish to the dumping ground, with cement mortar 1:4 (one cement : four fine sand) including carriage of material within all leads and lifts and other incidentals complete and as per the entire direction and satisfaction of Engineer-in-Charge.	28.16	379.60	Rupees Hundred Nine and Only	Per square metre	10690.00	
				Total:-		68309.00	


 Executive Engineer,
 Mandi Division No. II,
 PWD, Mandi

Percentage Rate Schedule of Quantity

Estimated Cost:- Rs. 99835.00
Earnest Money:- Rs. 2000.00
Time:- One Month

Name of work:- Annual repair and maintenance of residential building under Mandi Division No II at Jail road Mandi Distt. Mandi (H.P.).

Sub Head:- Providing steel work and precoated galvanised iron sheet roofing work etc. in Type-IV Qtr No 6 and chief office).

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1	1 Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of corrugation as approved by Engineer-in-charge) 0.50 mm (zero point five zero millimetre) (+ 0.05 % (plus zero point zero five percent)) total coated thickness with zinc coating 120 (one hundred twenty) grams per sqm as per IS: 277, in 240 (two hundred forty) mpa steel grade, 5.7 (five to seven) microns epoxy primer on both side of the sheet and polyester top coat 15.18 (fifteen to eighteen) microns. Sheet should have protective guard film of 25 (twenty five) microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 (twelve) metre complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	23.00	1418.05	Rupees Thousand Hundred Eighteen and Paise Five Only	One Per square metre	32615.00
2	2 Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etcetera as required in gratings, frames, guard bar, ladder, railings, brackets, gates and similar works complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	501.27	134.10	Rupees One Hundred Thirty Four and Paise Ten Only	Per kilogram	67220.00
				Total:-		99835.00


Executive Engineer
Mandi Division No II.
H.P PWD Mandi

Percentage Rate Schedule of Quantity

Name of work:- Annual repair and maintenance of Residential building HP.PWD. department at jail road Mandi Distt. Mandi (H.P.)
Sub Head:- Providing and fixing HDHMR board for cupboard in Chief Engineer residence.

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1	Providing and fixing 7.5mm (seven point five millimetre) thick HDHMR with one side decorative lamination other side balancing lamination board in shelves/ shutter for cupboard with butt joints within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	6.94	1513.00	Rupees One Thousand Five Hundred Thirteen Only	Per metre	10500.00
2	Providing and fixing 16.75mm (sixteen point seventy five millimetre) thick HDHMR with one side decorative lamination other side balancing lamination board in shelves/ shutter for cupboard with butt joints and fixing with nails and screws etcetera complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	25.81	2334.60	Rupees Two Thousand Three Hundred Thirty Four and Paise Sixty Only	Per metre	60256.00
3	Providing and fixing hydraulic hinges for cup board shutter of superior quality with necessary screws etcetera complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	44.00	522.15	Rupees Five Hundred Twenty Two and Paise Fifteen Only	Each	22975.00
				Total:-		93731.00


 Executive Engineer,
 Mandi Division No. II,
 HP PWD Mandi